17.3.21

LC – I can divide a two-digit number by a one-digit number using the bus stop method.

Find the answer to the following calculations. Remember to use the bus stop method. Use a piece of paper to write out the calculation and work out your answer.

69 ÷ 3 =                                                                                       56 ÷ 4 = 

88 ÷ 4 =                                                                                       24 ÷ 2 = 

90 ÷ 6 =                                                                                       90 ÷ 5 = 

65 ÷ 5 =                                                                                       76 ÷ 4 = 

96 ÷ 4 =                                                                                        72 ÷ 3 = 

36 ÷ 3 =                                                                                       70 ÷ 5 = 

[bookmark: _GoBack]28 ÷ 4 =                                                                                       45 ÷ 5 =





















